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Problem 1 (20%)
BhToEHrFxo R (EHAEM)
(1) PP (2) PAN (3) Nylon 6 (4) PMMA (5) PVC

Problem 2 (24%)

(1)3% A8 # ¥8 M 35 % F(thermoplastic polymer)$Z 2k Bt % 4~ -F(thermoset polymer)
Z R F) = (8%)
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Problem 3 (16%)

()FE ) L ARIHR RS BBERNEB Z A - (8%)
(2)Acetone (5=9.77)TE MR T TR 44 » BB HED - 8%)
(a) Polyvinyl acetone (6=9.43)
(b) Rubber (6=8.15)
(c) PET (6=10.7)

Problem 4 (22%)

(1)) 3R 43 5% B (Tensile strength) 85 =T & & A $H RS B - # LB F T4 2 A0 &
ZM LY LRBEEELIENESR - (10%)

Q)FHE T 5 &4 FHEMREREL - (12%)
(a)tn 1 Izod #t7ér # 7 J& (notched Izod impact strength)
(b)#7 ¢h 3% B (Flexural strength) (c)#h ¢ 7 R B (HDT)

Problem 5 (18%)

ERBTHESY TRARE  LEB—EREY

(1)i% % % 4 R J&(Step polymerization)

QK & & R 42484 % 4 R J&E(Free radical chain polymerization)

(3) & ¥ 4 & & (Copolymerization)
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